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1 Diğer sayfaya geçiniz.

PRACTICE EXAM 1

Bu testte 80 soru vardır.

12-07

1. - 8. sorularda, cümlede boş bırakılan 
yerlere uygun düşen sözcük veya ifadeyi 
bulunuz.

1.	 Today, about 2 in 3 children under the age of 5 
experience food ----, which means they do not 
have the minimum diverse diet needed to grow 
and develop.

A)	abundance	 B)	manufacture

C)	dehydration	 D)	convention

E)	poverty

5.	 The First Balkan War ---- when the League 
member states attacked the Ottoman Empire 
on 8 October 1912 and ended seven months 
later with the signing of the Treaty of London 
on 30 May 1913.

A)	resulted in	 B)	stemmed from

C)	caught up	 D)	broke out

E)	put down

2.	 In light of the global trend towards e-learning, 
the higher education institutions in Jordan 
have witnessed ---- changes in the way they 
operate.

A)	submissive	 B)	radical

C)	distant	 D)	equivalent

E)	akin

6.	 Many northern European castles ---- from earth 
and timber, but had their defences ---- later by 
stone.

A)	are originally built / being replaced

B)	were originally built / replaced

C)	had originally been built / be replaced

D)	have originally been built / to replace

E)	were originally being built / having replaced

3.	 Natural disasters, theft, employee injuries 
may all lead to unexpected financial losses 
for businesses, which could be ---- covered by 
business insurance if they have one.

A)	timidly	 B)	recklessly

C)	entirely	 D)	brutally

E)	oddly

7.	 Most of the energy captured by large wind 
farms ---- higher up in the atmosphere and is 
transported down to the surface where the 
turbines ---- this energy.

A)	is originating / might have extracted

B)	originated  / had better extract

C)	originates / may extract

D)	has originated / would rather extract

E)	had originated / should extract

4.	 The world has used close to half of the global 
petroleum supply, and the second half will be 
---- at an even faster rate because of growing 
population and economic development.

A)	depleted	 B)	emerged

C)	selected	 D)	raised

E)	intended

8.	 Long-term scenario analyses suggest timely 
and orderly macroeconomic policies ---- 
climate-related risk ---- financial stability risks, 
notably for highest greenhouse-gas emitting 
sectors.

A)	tackling / would rather reduce

B)	to be tackled / should reduce

C)	being tackled / could reduce

D)	to tackle / can reduce

E)	having been tackled / must reduce
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Diğer sayfaya geçiniz.

9. - 15. sorularda, cümlede boş bırakılan 
yerlere uygun düşen sözcük veya ifadeyi 
bulunuz.

9.	 By using gel, researchers have found a way 
to incorporate silicon ---- batteries while 
negating its destructive tendency to expand, 
which means that future EVs could use the 
technology to go much further ---- a single 
charge.

A)	with / to	 B)	for / of

C)	into / on	 D)	out of / over

E)	in / from

13.	 ---- clear sea creatures, like the jellyfish, use 
their transparency to avoid detection, while 
----, such as the glass octopus, have a unique 
ability to reflect light, making them appear 
invisible in the water.

A)	Much / the others

B)	Many / other

C)	A few / another

D)	A great deal of / the other

E)	Some / others

10.	 Using the results of a standard blood test and 
an online tool, developed by a research group 
at Uppsala University, you can find out whether 
you are ---- increased risk of having a heart 
attack ---- six months.

A)	of / in	 B)	from / to

C)	along / over	 D)	with / by

E)	at / within

14.	 You can find several applications available on 
the net that can convert handwritten notes --- 
into a word document ---- into another office 
file.

A)	more / than	 B)	such / as

C)	rather / than	 D)	either / or

E)	neither / nor

11.	 ---- wind farms are carefully planned to avoid 
shipping routes and busy harbours, they may 
still pose a risk for vessels during violent 
storms.

A)	Since	 B)	Just as

C)	Although	 D)	As long as

E)	Now that

15.	 People with Alzheimer’s disease develop 
defects in cognitive functions like memory ---- 
problems with noncognitive functions that can 
lead to anxiety and depression.

A)	as well as	 B)	unlike

C)	on behalf of	 D)	according to

E)	in terms of

12.	 The campsite management, while forbidding 
the lighting of fires in the site, allows the use 
of portable barbecues ---- they do not damage 
the turf and do not disturb adjacent sites.

A)	even if	 B)	on condition that

C)	once	 D)	whereas

E)	after
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16. - 20. sorularda, aşağıdaki parçada 
numaralanmış yerlere uygun düşen sözcük 
veya ifadeyi bulunuz.

The Great Recession refers to the severe global 
economic downturn that occurred in the late 2000s, 
starting around 2007 and lasting (16) ---- 
approximately 2009. It was (17) ---- by a 
combination of factors, including the burst of the 
United States housing bubble, the subprime 
mortgage crisis, and the subsequent collapse of 
major financial institutions. Its impact was felt 
worldwide (18) ---- it led to a significant decline in 
economic activity, mass unemployment, and 
widespread financial instability. Stock markets 
plummeted, housing markets collapsed, and 
governments and central banks (19) ---- various 
measures to stabilize economies and prevent 
further damage. (20) ---- recovery efforts took 
place in the years following the recession, its 
impact continued to shape economic policies and 
discussions surrounding financial resilience and 
systemic risks.

16.	 	

A)	to	 B)	with

C)	until	 D)	on

E)	at

18.	 	

A)	even if	 B)	as

C)	unless	 D)	now that

E)	whereas

17.	 	

A)	acquired	 B)	empowered

C)	mentioned	 D)	overlooked

E)	triggered

19.	 	

A)	had to implement

B)	should implement

C)	might implement

D)	would rather implement

E)	had better implement
20.	 	

A)	As though	 B)	Since

C)	However	 D)	Even though

E)	If

21. - 28. sorularda, verilen cümleyi uygun 
şekilde tamamlayan ifadeyi bulunuz.

21.	 While there has been much research into how 
the brain encodes grammatical structures, ----.

A)	our brain is capable of linking incoming speech 
sounds to knowledge of grammar

B)	studies on how the brain encodes associative 
context patterns are few in number

C)	all sentences are made up of smaller building 
blocks, such as words and phrases

D)	they need abstract knowledge of language 
structure to understand a sentence

E)	this area has been associated with language 
processing, whether it is written or spoken

22.	 Despite a widespread public perception 
that herbs and botanical products in dietary 
supplements are safe, ----.

A)	herbal supplement sales have been 
progressively increasing for the last decade and 
will further increase

B)	they are added to the diet either to complete 
dietary needs or to make up for a nutrition 
deficiency

C)	they may be found in many forms including 
pills, capsules, powders, drinks, or energy bars

D)	these products have been proven to carry the 
same dangers as other pharmacologically 
active compounds

E)	they are plants used for oral medicinal 
purposes, and they include the flower, leaf, root, 
and/or seed of the plant

23.	 Although boots were originally designed to 
protect riders’ feet while they galloped on 
horses, ----.

A)	it is still unclear exactly when horses were first 
ridden

B)	many different horse breeds and types are 
suitable for riding

C)	jockeys are small in stature, which makes it 
easier for the horses to carry their weight

D)	you must not take a horse onto a footpath or 
pavement

E)	they have evolved into an important fashion 
statement since then
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29. - 31. soruları aşağıdaki parçaya göre 
cevaplayınız.

Colonialism and imperialism are historical 
phenomena characterized by the extension 
of power and influence of powerful nations 
over other territories. Although they are often 
used interchangeably, they each have unique 
characteristics. Colonialism involves the 
establishment of formal colonies, where the 
colonial power exercises political, economic, and 
cultural control over the subordinate regions. 
It often leads to economic exploitation, cultural 
assimilation, and the imposition of the colonizer’s 
norms. The British colonization of India and the 
French colonization of Algeria are among the 
notable examples. Imperialism, on the other 
hand, is a broader concept encompassing various 
methods of extending influence, including territorial 
acquisition, economic dominance, and political 
manipulation. This influence may be exerted 
through direct territorial acquisition or indirect 
methods like economic or political dominance. 
Economic imperialism, for instance, allows 
powerful nations to control other regions without 
direct territorial occupation. Both colonialism 
and imperialism have shaped global history, 
leaving enduring legacies on affected regions 
and influencing the geopolitical dynamics of the 
modern world.

29.	 It is clearly stated in the passage that 
colonialism and imperialism ----.

A)	have hardly had any effect on today’s world’s 
geopolitical dynamics

B)	have distinct features that separate them from 
each other

C)	are frequently applied by weak nations over 
powerful ones

D)	can sometimes be used to refer to different 
thing although they actually mean the same

E)	are indistinguishable in that they both require 
the occupation of another country

30.	 It can be understood from the passage that the 
French ----.

A)	and the British were in competition to colonize 
Algeria

B)	avoided exercising political control over its 
former colony, Algeria

C)	colonization of India is a remarkable example of 
imperialism

D)	exerted economic and cultural control over 
Algeria

E)	utilized various methods to become the most 
powerful nation in Europe

31.	 It is clear from the passage that ----.

A)	both colonialism and imperialism have had a 
great impact upon the geopolitical dynamics of 
the world today

B)	Britain and France managed to take Algeria 
and India under control respectively thanks to 
economic imperialism

C)	nations formally colonizing subordinate regions 
refrain from controlling the territories of these 
colonies

D)	imperialism used to be a more common 
phenomenon than formal colonialism, but this is 
not the case any more

E)	after the British colonized India, the French 
responded by colonizing Algeria because they 
were fierce rivals
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44. - 48. sorularda, karşılıklı konuşmanın boş 
bırakılan kısmını tamamlayabilecek ifadeyi 
bulunuz.

44.	 Fernandez:
‒	 Hey, Derrick, have you ever heard of 

dropshipping? It’s an e-commerce business 
model, isn’t it?

Derrick:
‒	 That’s right. It’s where you sell products 

without having to keep them in stock. 
Instead, the supplier ships the products 
directly to the customer.

Fernandez:
‒	 ----

Derrick:
‒	 Exactly. It’s a low-risk way to start an online 

business since you don’t need to invest in 
inventory upfront.

A)	Do you mind if I ask you when and how you first 
became interested in dropshipping?

B)	But what kind of benefits would that bring to the 
customer over conventional shopping?

C)	Well, do you mean that I need a huge 
warehouse where I will store the goods I will 
trade?

D)	Ah, so you essentially act as a middleman 
between the supplier and the customer.

E)	To be honest, I don’t understand how one can 
be tempted to invest in such a risky business 
model.

45.	 Suzie:
‒	 Have you been following the recent 

discussions about animal rights?

Nancy:
‒	 Yes, I have. It’s such an important topic, isn’t 

it? Animals deserve to be treated ethically 
and with compassion.

Suzie:
‒	 ----

Nancy:
‒	 Definitely. That’s why it’s crucial to advocate 

for stronger animal welfare laws and 
regulations.

A)	But don’t you also think that we should be more 
interested in human rights, especially women 
rights?

B)	In fact, much research must be done to have an 
idea about the origins of extinct languages.

C)	You’re right. Some animals can smell chemical 
signals that indicate a person is fearful.

D)	As a matter of fact, domestic animals often 
seek and enjoy interacting with humans.

E)	I couldn’t agree more. It’s heart-breaking to see 
cases of animal cruelty and exploitation.
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49. - 53. sorularda, verilen cümleye anlamca 
en yakın cümleyi bulunuz.

49.	 While taste loss can be a distressing experience, 
scientists are still sceptical about whether 
reports of taste loss were genuine during the 
Coronavirus Pandemic.

A)	During the Coronavirus Pandemic scientists 
seemed to be sure that reports of taste loss, 
which is a worrying experience, were real.

B)	Suffering from taste loss is disturbing, yet none 
of the scientists examining the patients during 
the Coronavirus Pandemic was convinced they 
really experienced taste loss.

C)	Losing taste can be annoying, yet scientists 
are not sure if people really experienced loss of 
taste during the Coronavirus Pandemic.

D)	Although people experience taste loss from 
time to time, there are some scientists who 
claim that nobody experienced it during the 
Coronavirus Pandemic.

E)	Nothing is as distressful as taste loss, so 
scientists feel compassion for those who are 
reported to have experienced it during the 
Coronavirus Pandemic.

51.	 No matter what type of diet or fitness program 
you choose, you need to eat fewer calories 
than you burn off to lose weight.

A)	Even if the amount of food you consume is less 
than you burn off, you cannot avoid gaining 
weight if you do not combine it with a diet or 
fitness program.

B)	The type of the diet or fitness program you 
follow determines whether you will lose or gain 
weight rather than how many calories you eat 
or burn off.

C)	You are unlikely to lose weight unless you 
choose a diet or fitness program that dictates 
you to eat fewer calories than you burn off.

D)	If you want to lose weight, not only the calories 
you consume must be fewer than those you 
burn off but you should also follow a diet or 
fitness program.

E)	Irrespective of the diet or fitness program you 
choose, it is necessary for you not to get more 
calories than you burn off in order to lose weight.

50.	 Scientists have recently found a new way 
to fix cells deep inside the ear, which is an 
affirmative development that could help 
millions of people who suffer hearing loss.

A)	Millions of people who have hearing loss 
have already benefitted from the new method 
recently found by scientists, which repairs the 
cells deep inside the ear.

B)	Because it has the potential to assist in 
millions of people with hearing loss, the novel 
method scientists have discovered recently to 
repair cells deep inside the ear is a positive 
development.

C)	One of the remarkable developments that has 
aided millions of people with hearing loss is the 
new method recently discovered by scientists, 
which can restore the cells deep inside the ear.

D)	Scientists have long been striving to discover a 
way to repair the cells deep inside the ear, and if 
they can, it will be a notable development which 
can help millions of people with hearing loss.

E)	Using the recently discovered ground-breaking 
method, scientists can restore cells deep inside 
the ear, which is a noteworthy development as 
it has eradicated the problem of hearing loss 
worldwide.
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52.	 Global warming could be interacting with 
regional rainfall and deforestation to accelerate 
forest loss in the Amazon, pushing it towards 
partial or total collapse.

A)	The forest loss in the Amazon is gaining speed 
possibly due to the interaction between global 
warming and rainfall and deforestation, which 
is bringing it to the verge of a partial or total 
collapse.

B)	The forest loss in the Amazon has reached 
unprecedented levels as global warming has 
led to regional rainfall and deforestation, which 
has caused the collapse of the Amazon.

C)	The total collapse of the Amazon could in part 
be due to global warming, which has speeded 
up the forest loss in the region as a result of 
heavy rainfall and deforestation.

D)	Rather than regional rainfall or deforestation, it 
is due to global warming that the forest loss in 
the Amazon has reached record highs and has 
paved the way for the collapse of the Amazon.

E)	By supressing regional rainfall, global warming 
could be leading to deforestation, speeding 
up forest loss in the Amazon, and pushing it 
towards partial or total decline.

53.	 Carbon dioxide emissions from burning fossil 
fuels are the main culprit behind climate 
change, and scientists say they must be reined 
in.

A)	According to scientists, climate change is 
mainly triggered by carbon dioxide emissions 
from fossil fuels and steps have been taken to 
limit them.

B)	As scientists put it, carbon dioxide emissions 
from burning fossil fuels are hardly responsible 
for climate change and they must be 
overlooked.

C)	Carbon dioxide emissions from burning fossil 
fuels are on the rise as a result of climate 
change, and scientists must do something to 
stop them.

D)	Scientists say carbon dioxide emissions from 
burning fossil fuels must be curbed as they are 
the primary driver of climate change.

E)	Scientists maintain that unless immediate action 
is taken, carbon dioxide emissions from burning 
fossil fuels could worsen climate change.

54. - 58. sorularda, verilen durumda 
söylenmiş olabilecek sözü bulunuz.

54.	 A friend of yours says that she will quit her job 
the next day just because the manager raised 
his voice at her in the office. You know that 
she earns a decent salary and her working 
conditions are quite good. Besides, you think 
finding a good job immediately in the current 
economic climate is not so easy. You want her 
to think twice before she quits, so you say: ----

A)	How dare does he shout at you in front of 
everyone! I would not stay one more minute in 
that job if I were you.

B)	This idea doesn’t sound very sensible to me. 
I’d suggest you to hang on to your job while 
looking around for something better.

C)	Well, you must have done something really bad 
to drive him crazy. But that shouldn’t dissuade 
you from giving up that job.

D)	I can’t really understand why he insulted you 
when everyone else was around. That was 
certainly very rude of him.

E)	I cannot even imagine how you felt when he did 
that to you. I would have already resigned if that 
had happened to me.

55.	 After a long try, you finally found a ticket to see 
a well-known stand-up comedian on stage last 
night. At the end of the show, you were really 
disappointed as you had hoped to see a much 
better performance from him. So when a friend 
asks you about the show, you say: ----

A)	Although it was disappointing to wait for over an 
hour due to the delay, his performance on stage 
really made up for it.

B)	It was really an incredible experience for me to 
see him perform on stage.

C)	Apart from a few minor hiccups, it was a pretty 
good performance overall.

D)	It certainly didn’t come up to my expectations. 
I’d envisioned something much better.

E)	It was to my disappointment that he had to end 
the show earlier due to some glitches.
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56.	 As part of a collaboration, you have long been 
working on a project, which is almost about 
to culminate. At the board meeting, one of the 
members dissatisfied with the project offers to 
cease the current project and embark on a new 
one. You disagree with him and say: ----

A)	In my opinion, we have no option but to carry 
on as too much has already been invested.

B)	I don’t agree with you. I think we should quit it 
as soon as possible and launch a new one.

C)	You’re dead right. It’s high time we started 
thinking about something more creative.

D)	To be honest, I’m of the idea that persisting on 
this project is nothing but a waste of time.

E)	You may be right, but have you pondered how 
much it will cost us to keep the current project 
going?

57.	 Your phone was out of charge for the whole 
day and you could not charge it because you 
were out and did not have the charging cable 
with you. When you switch it on after you have 
charged it at home in the evening, you see 
that your manager phoned you several times 
during the day. You apologize and say: ----

A)	It may not have been your fault, but you should 
have been more careful about it.

B)	I regret to tell you that you may be dismissed 
for your serious misconduct.

C)	I’m really sorry I didn’t return your call earlier. 
My battery was dead.

D)	I cannot find words to say how sorry I’m for not 
informing you earlier about the delay.

E)	I know this is not to first time I’ve done that, 
but I promise not to bother you with trivial calls 
again.

59. - 63. sorularda, boş bırakılan yere, 
parçada anlam bütünlüğünü sağlamak için 
getirilebilecek cümleyi bulunuz.

59.	 Born in 1897, American aviator Amelia Earhart 
is best known for becoming the first female 
pilot to fly solo across the Atlantic Ocean. Her 
interest in aviation was sparked as a young 
girl and took her first flying lesson on January 
3, 1921, and bought her own plane six months 
later. ---- A slew of other accomplishments 
followed, including speed records and solo 
flights. Besides, Earhart urged other women 
to fly by writing pieces about aviation in 
magazines and helped found The Ninety-Nines: 
International Organization of Women Pilots.

A)	The next year, at the age of 10, Earhart saw 
her first aircraft at the Iowa State Fair in Des 
Moines.

B)	Her old sinus problem exacerbated and in early 
1924 she was hospitalized for another sinus 
operation.

C)	She experienced mechanical difficulties and 
was unable to land in her scheduled destination 
of Paris.

D)	The following year she would break the 
woman’s world altitude record, reaching 14,000 
feet.

E)	Her mysterious disappearance captured the 
public’s imagination and generated numerous 
theories and claims.

58.	 You have noticed that a colleague of yours 
plagiarized from you in a published article. You 
share this information with another colleague. 
She is rather surprised and asks if you have 
considered what course action you will take. 
You are still not sure what you are going to do 
and want to get some advice from her. You say: 
----

A)	I will teach him such a lesson that he will never 
dare to do this again.

B)	I haven’t made up my mind yet, but I might sue 
him for his behaviour.

C)	I cannot believe he’s done that. I’ll have to 
inform the authorities about it.

D)	He must have been out of his mind, but how 
come you didn’t advise him not to do it.

E)	I haven’t decided yet; what would you do if you 
were in my position?
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63.	 An enterprise simply refers to an operating 
business turning a profit. However, the term 
enterprise within the hospitality industry refers 
to a business of a larger scale. ---- This refers 
to the existence of multiple locations under a 
single brand name. With this kind of business 
entity comes a lengthy and detailed hierarchy. 
For instance, an enterprise in the space will 
consist of associates, managers, directors, 
and C-suite executives. There is often a 
centralized structure, too, which most of the 
time, stems from a corporate office.

A)	Most often, a business described as an 
enterprise will have specific characteristics.

B)	If an enterprise exists within the hospitality 
space, it is likely a multi-unit franchise.

C)	Enterprises may sell directly to consumers, 
serve other businesses, or both.

D)	The structure of a corporation can vary 
depending on the number of owners.

E)	Not every entrepreneur is the same and not all 
have the same goals.

64. - 69. sorularda, verilen İngilizce cümleye 
anlamca en yakın Türkçe cümleyi bulunuz.

64.	 Cotton is still a principal raw material for 
the world’s textile industry, yet its dominant 
position has been seriously eroded by the 
emergence of synthetic fibre.

A)	Pamuk, dünya tekstil endüstrisinin başlıca 
hammaddesi olmasına rağmen, sentetik 
elyafın ortaya çıkışıyla birlikte hâkim konumunu 
kaybetmiştir.

B)	Pamuk hala dünya tekstil endüstrisi için temel 
bir hammaddedir, ancak sentetik elyafın 
ortaya çıkmasıyla hâkim konumu ciddi şekilde 
erozyona uğramıştır.

C)	Pamuk dünya tekstil endüstrisi açısından 
temel bir hammaddedir, ancak sentetik elyafın 
piyasaya sürülmesinden bu yana güçlü konumu 
önemli ölçüde aşınmıştır.

D)	Dünya tekstil endüstrisinin temel hammaddesi 
olan pamuğun güçlü konumu, sentetik elyafın 
ortaya çıkmasıyla birlikte yavaş yavaş erozyona 
uğradı.

E)	Pamuk, dünya tekstil endüstrisinin başlıca 
hammaddesidir, ancak sentetik elyafın 
ortaya çıkmasıyla birlikte hâkim konumunu 
kaybetmiştir.

65.	 The development of hydrogen bombs has 
had such a great impact on the world that 
historians draw a sharp distinction between 
the nuclear age and all previous periods.

A)	Hidrojen bombalarının gelişimi dünyayı öylesine 
etkiledi ki tarihçiler nükleer çağ ile önceki 
dönemler arasındaki ayrımı net bir şekilde 
ortaya koyabiliyorlar.

B)	Hidrojen bombalarının geliştirilmesiyle dünya 
öyle bir etkilendi ki, tarihçiler nükleer çağı ve 
önceki dönemler arasındaki farkı net bir şekilde 
ayırt edebiliyorlar.

C)	Hidrojen bombalarının geliştirilmesinin dünya 
üzerindeki etkisi o kadar büyüktü ki, tarihçiler 
nükleer çağ ile önceki tüm dönemler arasındaki 
farkı kolaylıkla fark edebiliyorlar.

D)	Hidrojen bombalarının geliştirilmesinin dünya 
üzerinde o kadar büyük bir etkisi oldu ki, 
tarihçiler nükleer çağ ile önceki dönemler 
arasında keskin bir ayrım yapıyorlar.

E)	Hidrojen bombalarının geliştirilmesiyle dünya 
o kadar büyük bir değişime uğradı ki, tarihçiler 
nükleer çağ ile önceki dönemler arasında 
keskin bir ayrım yapıyor.
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Diğer sayfaya geçiniz.

68.	 Manipulation of history education may cause 
serious traumas, but this point is ignored 
by some intellectuals who are assertive in 
controlling public opinion.

A)	Tarih eğitiminin tahrif edilmesinden kaynaklı 
travmalar çok ciddidir, ancak bu konu, 
kamuoyunu kontrol etme konusunda söz sahibi 
olan bazı aydınlar tarafından görmezden 
gelinmektedir.

B)	Tarih eğitiminin manipüle edilmesi ciddi 
sorunlara sebep olabilir ancak bu nokta, 
bazı aydınlar tarafından kamuoyunu aşırı 
kontrol etme olarak görüldüğü için göz ardı 
edilmektedir.

C)	Tarih eğitiminin tahrif edilmesi ciddi travmalara 
neden olabilir ancak bu nokta, kamuoyunu 
kontrol etme konusunda iddialı olan bazı 
aydınlar tarafından göz ardı edilmektedir.

D)	Tarih eğitiminin manipüle edilmesi nedeniyle 
çeşitli sorunlar ortaya çıksa da bu konu 
kamuoyunu kontrol etme konusunda iddialı 
aydınlarca yok sayılmaktadır.

E)	Tarih eğitiminin tahrif edilmesiyle ortaya çıkan 
sorunlar çok ciddi olsa da kamuoyunu kontrol 
etmek konusunda iddialı olan bazı aydınlar bu 
noktaya yeterince değinmemektedir.

69.	 When children are faced with distressing 
events that are difficult for them to understand, 
they may make sense of their experiences by 
talking to their parents.

A)	Çocukların anlamakta zorlandıkları üzücü 
olaylarla karşı karşıya kalması, onların 
yaşadıklarını anlamlandırabilmeleri için 
ebeveynleri ile konuşmalarını gerektirir.

B)	Çocuklar, kendilerinin anlaması zor olan üzücü 
olaylarla karşılaştıklarında ebeveynleriyle 
konuşarak deneyimlerini anlamlandırabilirler.

C)	Anlamakta zorlandıkları üzücü olaylarla 
karşı karşıya kalan çocuklar, yaşadıklarını 
anlamlandırmak için ebeveynleriyle 
konuşabilirler.

D)	Çocukların karşılaştıkları bazı olayları anlamak 
onlar için o kadar zordur ki bunları ancak 
ebeveynleriyle konuşarak anlamlandırabilirler.

E)	Çocuklar, kendilerinin anlaması zor olan üzücü 
olaylarla karşılaştıklarında, ebeveynleriyle 
konuşmak yaşadıklarını anlamlandırmalarını 
sağlayabilir.

70. - 75. sorularda, verilen Türkçe cümleye 
anlamca en yakın İngilizce cümleyi bulunuz.

70.	 Aşağıdaki vadilere hâkim dik bir tepe 
üzerindeki stratejik konumu sayesinde 
Montepulciano, Orta Çağ’da en büyük ününe 
kavuşmuştur.

A)	Its strategic position on top of a hill, overlooking 
the valleys below, enabled Montepulciano 
to achieve its greatest reputation during the 
Middle Ages.

B)	It was Montepulciano, which stood on top of a 
hill, commanding the valleys below that had the 
greatest strategic dominance during the Middle 
Ages.

C)	Thanks to its strategic position on a steep 
hill, which commanded the valleys below, 
Montepulciano achieved its greatest renown 
during the Middle Ages.

D)	What made Montepulciano one of the most 
famous during the Middle Ages was its strategic 
position, which commanded the valleys below.

E)	Montepulciano achieved its greatest fame 
during the Middle Ages because it occupied 
a strategic position on top of a hill, which 
overlooked the valleys below.
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TEST BİTTİ. CEVAPLARINIZI KONTROL EDİNİZ.

76. - 80. sorularda, cümleler sırasıyla 
okunduğunda parçanın anlam bütünlüğünü 
bozan cümleyi bulunuz.

76.	 (I) Throughout the world, the dominant pattern of 
migration within countries has been from rural to 
urban areas. (II) At the end of World War II, the 
U.S. government enacted a program that gave 
home loans to returning war veterans. (III) This 
created an explosion of single-family homes and 
increased the growth of suburbs across America. 
(IV) The establishment of the Federal-Aid Highway 
Act of 1956 also contributed to the growth of 
suburbs and urban areas. (V) The original plan 
for the highway system was for the evacuation of 
large cities in case of a nuclear or military attack, 
but what the Highway Act created instead was 
suburban sprawl.

A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V

77.	 (I) In the 15th and 16th centuries, explorers 
introduced new varieties of plants and agricultural 
products into Europe. (II) From Asia, they carried 
home coffee, tea, and indigo, a plant used to 
make blue dye. (III) From the Americas, they took 
plants such as potatoes, tomatoes, maize, beans, 
peanuts, and tobacco. (IV) A variety of rice from 
Vietnam ripened quickly and allowed farmers to 
harvest several crops during a single growing 
season. (V) Some of these became staples and 
expanded people’s diets.

A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V

78.	 (I) Flooding can have a negative effect on wildlife, 
causing drowning, disease proliferation, and 
habitat destruction. (II) For instance, hundreds 
of animals, including many vulnerable one-
horned rhinos, were killed in floods that swamped 
Kaziranga National Park in the Indian state of 
Assam in 2012. (III) The human cost of flooding 
can be large, but events like this have a big impact 
on the natural world too, and the effects are not 
always negative. (IV) What’s more, unpredictable 
floods can be harmful even to aquatic life. (V) For 
example, fish can be displaced and their nests 
could be destroyed.

A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V

79.	 (I) Animal experiments are widely used to develop 
new medicines and to test the safety of other 
products. (II) Many of these experiments cause 
pain to the animals involved or reduce their quality 
of life in other ways. (III) Those in favour of animal 
experiments say that the good done to human 
beings outweighs the harm done to animals. (IV) 
If it is morally wrong to cause animals to suffer, 
then experimenting on animals should produce 
serious moral problems. (V) Animal experimenters 
are very aware of this ethical problem and 
acknowledge that experiments should be made as 
humane as possible.

A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V

80.	 (I) A balanced diet usually means eating more 
fruits, vegetables, and grains and consuming 
fewer foods high in fat, sugar, and cholesterol. 
(II) When comparing the food habits of different 
cultures, however, the definition of a balanced 
diet might also be seen differently. (III) A person’s 
culture can influence the way they try to find 
balance in the foods they consume. (IV) One can 
also see balance in the way the French serve their 
food. (V) Cultures might view balance differently 
according to the way a dish tastes, or how a meal 
is prepared and served.

A)	I	 B)	 II	 C)	 III	 D)	 IV	 E)	 V
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